TH6EE BRRE NERBBEZINE

T A =|
4 4 e5e
|(E (AL FH5)
BEEERA -k &1
¥ (BAEICBRERGEIIHRE)
2 H FITE 14 25 3F 45 5% 64
t 113 213 313 413 513 613
(= feAt 114 214 314 414
=
106 206 306 406 506 606
[£F] HE
1308 408 508 608
& H3X
T304 302[ 1B RR] [3%302[ IBER] [3%302[ 1B iR
i = | [1BkR]) [1BkR]) [1BkR])
t 121 320 420 520 620
L EMER - 1200319 (221 321 421
412 512 612
b S BEEE
N %113[I18AR]
&30 EWER 130 X114[IBAR]
=
104 204 304 404 504 604
[F#] B=
N 105 %101[1BAR]|305 % 301[1BAR]|505 %501[18kR)
BT il = 106 %102[[BAR] [306 %302[[BAR] 506 %502[ [HAR]
%5011
R 8 (1]
3%501[[HAR])
Rig HE
609
[%:E] HE SR RS [510 (AT 6D
112 212 312 412 E512 612
[EfE) HE
[ IROEEEELGARITEIIFE246FEIZODVWTIIFIREFTRIDRITEDOHIREFEHT S (R6DH)
EEEAIM- RE=EES6FD2FFHICIIE 5T S (RIFILSFDFH)
¥ e | A ¥ T ¥r r¥r ¥r v e | e
_|c-121 [c-122 [c-123 C-121 [c-izz(ii|c123(2)|C-124 c-121 [c-122 [c-123
EE R RS
¥ e | A
c-121 [c-122 [c-123
£iE
Bzt (A (BT ER)

OCEXEMER)-OEYX I ->OWFoy/—-OfEE (5 H) Ot R (BH)

NE

[R6_)EARHFEIEFXE /I



